A distribution consists of three parts with total frequency S0, (0 and 90,

respective means are 12, 15 and 20. Find out combined mean.

Solution :
Yo (12 x 50) + (15 x 60) + (20 x 90)

. 50 + 60 + 90
600 + 900 + 1,800 3,300
= 200 i
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Calculate arithmetic inean from the following data:—
Variables 4 O A 10
Frequency 5 8 20 10
Solution :
X S JX
4 5 20
6 8 48
8 20 160
10 10 100
12 7 B4
50 412

32. (a) A X = 30, S9W Agfa = v, 1 GFA = 34, LK = 950 + I5¥

@ 19 smgta 3@ Fife

If X = 30. Unknown frequency = ¥, Known frequency = 34, £/X =950 + 35 ¥,

find out the unknown frequency.

(b) A EfX=1660+20 A, X =41, N = 60, ! 3191 g1 @ Fifaa |

412
50
= 84

IFEfX=1660+20A, X =41.N = 60, find out unknown value.

() afE Ffewa M = 35, anfas me = 33, w2 faaedl @ st &

TUA%E %1 417 = — 20, F Y1 F HEA = 100, IR 79 Fa |

If assumed mean = 35, actual mean = 33, summation of muluiplication of step

dﬂillét:: :nnd frequencics = - 20, No. of total items = 100, find out class interval.

(a) X = :HE (b)

950 + 35Y

0=y

T=A+m

___ZE.
Ai=eN
e 1,660 + 204

b
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950 + 35Y = 1,020 + 30Y 1,660 + 204 = 2,460
35Y-30Y = 1,020-950 20A = 2,460~ 1,660
5Y =170 : 204 = 800
70
Y= '5‘=l4 A=40
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A person purchases one kilogram of tomatoes from each of the four places at the
rate of | kg.. 2 kg.. 3 kg. and 4 kg. per rupee respectively. On the average, how many
kilograms of tomatoes has be purchased per rupee ?

() G wel F 21 ol F Y F SEd 16.5 a1 o1 | T& 3 I F 3
I A I AY F SEd TEH 16.4 2 ¥ TN | T8 T 1 3G F T FHf

The mean age of 21 students of the class is 16-5 ycars. One morc student is added
to these students and the mean age drops to 164 years. Determine the age of the student

added to the original sample.

Solution : ; ;
(1) _I_+l+_I_+L=I2+6+4+3
1025354 12
. fl%%:-yzu;
(ﬂ)mﬂﬁaﬁaﬁmaﬁmu\i
21 ol # 3rg A fEa = 165
L EEwFA ] T 16:5 x 21 = 346:5 7
22 Tl ®1 Y F = 1647
27 Al ® FE AY - 164x22=3608
a4 BT %1 3G _ 3608 - 346.5 = 1437

¢ following marks were

O I, _ | X
A class of 16 boys was given an intelligence test and §

_Calculate Median :—
1§, 35, 43. 46, 48. 74, 48, 71, 49, 75. 50, 80, 55. 85, 56, 60

g 3 48, 49, 50
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